CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 CITY OF ALVIN E.T.J. FORT BEND COUNTY, TEXAS OCTOBER 8, 2024

OCTOBER 8, 2024 LJA ENGINEERING, INC. S. ROSS OCTOBER 8, 2024 1037-23003 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID ITEMS (NON TAX-EXEMPT)
1) ADVANCED CONSTRUCTION & DEVELOPMENT	\$1,185,022.38	\$1,838,444.40
2) DL MEACHAM LP	\$1,203,557.56	\$1,856,583.16
3) TEXAS WALL AND LANDSCAPE	\$1,225,009.43	\$1,776,964.21

CALENDAR DAYS 120/150



10/16/2024

I, Peter Caldwell, PLA, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189
CITY OF ALVIN F T. I.

2) DL MEACHAM LP

CITY OF ALVIN E.T.J. FORT BEND COUNTY, TEXAS OCTOBER 8, 2024 LJA ENGINEERING, INC. S. ROSS OCTOBER 8, 2024 1037-23003 (9.2)

1) ADVANCED CONSTRUCTION &

3) TEXAS WALL AND LANDSCAPE

				DEVELOP		Z) DE IVIEAC	JI IAWI LI	3) ILXAO WALL AI	ND LANDOOAI L
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS								•	
1 REMOVAL OF TREES, STI ANY EXCESS SPOILS ANI	UMP GRIND AS NEEDED INCLUDING THE HAUL OFF OF D TRASH	EA	4	\$1,272.76	\$5,091.04	\$641.52	\$2,566.08	\$1,002.21	\$4,008.84
MISCELLANEOUS ITEMS SUBTO	OTAL:				\$5,091.04		\$2,566.08		\$4,008.84
CIVIL ITEMS									
	D, DR 18, CLASS 235, ALL DEPTHS, TO INCLUDE FITTINGS, COMPLETE IN PLACE	LF	134	\$100.45	\$13,460.30	\$28.15	\$3,772.10	\$30.67	\$4,109.78
2 TRENCH SAFETY SYSTEM	M, WATER LINE, ALL DEPTHS, COMPLETE IN PLACE	LF	134	\$7.98	\$1,069.32	\$4.67	\$625.78	\$0.63	\$84.42
3 CONNECT PROPOSED 2- AND CONNECTORS, CON	1/2" WATER LINE, INCLUDES ALL NECESSARY ADAPTERS IPLETE IN PLACE	EA	1	\$191.40	\$191.40	\$134.14	\$134.14	\$137.67	\$137.67
4 4" PVC SEWER PIPE, 0' – AND BACKFILL, COMPLET	12' CUT, ASTM D-3034, SDR 26, TO INCLUDE BEDDING TE IN PLACE	LF	96	\$148.67	\$14,272.32	\$54.50	\$5,232.00	\$44.82	\$4,302.72
5 TRENCH SAFETY SYSTEM PLACE	M, SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN	LF	96	\$7.98	\$766.08	\$51.03	\$4,898.88	\$0.88	\$84.48
6 SANITARY SEWER CLEAN	NOUTS, COMPLETE IN PLACE	EA	1	\$712.87	\$712.87	\$1,253.88	\$1,253.88	\$74.41	\$74.41
7 12" HDPE STORM SEWER COMPLETE IN PLACE	R, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL,	LF	157	\$58.21	\$9,138.97	\$45.57	\$7,154.49	\$44.12	\$6,926.84
8 TRENCH SAFETY SYSTEM PLACE	M, STORM SEWER LINE, ALL DEPTHS, COMPLETE IN	LF	157	\$7.98	\$1,252.86	\$4.67	\$733.19	\$2.67	\$419.19
	2" HDPE STORM SEWER LINE TO EXISTING STORM S ALL NECESSARY ADAPTERS AND CONNECTORS,	EA	1	\$1,416.30	\$1,416.30	\$1,055.59	\$1,055.59	\$138.18	\$138.18
	LET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER ETS, COMPLETE IN PLACE	EA	2	\$4,472.16	\$8,944.32	\$5,540.40	\$11,080.80	\$5,095.86	\$10,191.72
11 STORM WATER POLLUTION DIRECTED BY ENGINEER	ON PREVENTION PLAN COMPLIANCE, ONLY AS , COMPLETE IN PLACE	LS	1	\$1,688.64	\$1,688.64	\$2,449.44	\$2,449.44	\$1,753.87	\$1,753.87
12 INSTALL, MAINTAIN, AND BARRIER FENCING), COM	REMOVE REINFORCED FILTER FABRIC FENCE (SILT IPLETE IN PLACE	LF	1362	\$4.53	\$6,169.86	\$4.22	\$5,747.64	\$4.74	\$6,455.88
	REMOVE STABILIZED CONSTRUCTION EXIT, AND CH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$5,361.43	\$5,361.43	\$4,432.32	\$4,432.32	\$5,887.99	\$5,887.99
	TION BARRIER ON EXISTING INLETS (TO BE USED ONLY HE ENGINEER), COMPLETE IN PLACE	EA	7	\$120.62	\$844.34	\$128.30	\$898.10	\$93.96	\$657.72
CIVIL ITEMS SUBTOTAL:					\$65,289.01		\$49,468.35		\$41,224.87
GRADING AND DRAINAGE ITEN	1S								
SITE ROUGH GRADING IN COMPLETE IN PLACE	ICLUDING THE HAUL OFF OF ANY EXCESS SPOILS,	LS	1	\$67,722.80	\$67,722.80	\$12,830.40	\$12,830.40	\$36,653.03	\$36,653.03
2 SITE FINE GRADING, COM	MPLETE IN PLACE	LS	1	\$1,929.88	\$1,929.88	\$7,565.46	\$7,565.46	\$7,710.97	\$7,710.97
	ION FENCE AS SHOWN ON PLANS PRIOR TO TAIN THROUGHOUT CONSTRUCTION	LF	393	\$8.39	\$3,297.27	\$4.67	\$1,835.31	\$4.46	\$1,752.78

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 CITY OF ALVIN E.T.J.

CITY OF ALVIN E.T.J.
FORT BEND COUNTY, TEXAS
OCTOBER 8, 2024
LJA ENGINEERING, INC.
S. ROSS
OCTOBER 8, 2024
1037-23003 (9.2)

LJA JOB NO.		10	37-23003 (9.2)					
		1) ADVANCED CONSTRUCTION & DEVELOPMENT			2) DL MEAC	HAM LP	3) TEXAS WALL AND LANDSCAPE	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
4 LANDSCAPE DRAINAGE PACKAGE TO HAVE POSITIVE DRAINAGE AND CONNECTO CIVIL DRAINAGE AND GROUT SOLID AS SHOWN ON PLANS, INSTALL COMPLETE IN PLACE	T LS	1	\$301.55	\$301.55	\$3,191.27	\$3,191.27	\$25,391.01	\$25,391.01
5 9" SQUARE INLET, PLASTIC WITH ATRIUM GRATE, NDS OR APPROVED EQUAL, INSTALL COMPLETE IN PLACE	EA	29	\$223.15	\$6,471.35	\$313.76	\$9,099.04	\$214.35	\$6,216.15
6 ON-GRADE ADJUSTABLE FLOOR DRAIN, NICKEL-BRONZE WITH FLAT GRATE, SIOUX CHIEF OR APPROVED EQUAL, INSTALL COMPLETE IN PLACE	EA	9	\$295.52	\$2,659.68	\$213.92	\$1,925.28	\$178.63	\$1,607.67
7 4" SMOOTH WALL PVC DRAINPIPE & EXCAVATION/FILL OR APPROVED EQUAL, INSTALL COMPLETE IN PLACE	LF	647	\$18.41	\$11,911.27	\$24.80	\$16,045.60	\$27.15	\$17,566.05
GRADING AND DRAINAGE ITEMS SUBTOTAL:				\$94,293.80		\$52,492.36		\$96,897.66
HARDSCAPE ITEMS								
1 PREFABRICATED RECREATION BUILDING, INCLUDING STRUCTURAL FOUNDATION, UTILITY CONNECTIONS AND DRAINS. INCLUDE ALL EXTERIOR AN INTERIOR FINISHES PER PLANS AND EMERGENCY LIGHTING, AND ALL APPURTENANCES PERTAINING TO CONSTRUCTION AND INSTALL. INSTALL COMPLETE IN PLACE AND OPERATIONAL	LS D	1	\$551,494.16	\$551,494.16	\$655,729.52	\$655,729.52	\$605,698.80	\$605,698.80
2 BENCH. INSTALL COMPLETE IN PLACE	EA	3	\$5,123.81	\$15,371.43	\$5,871.66	\$17,614.98	\$5,856.81	\$17,570.43
3 PICNIC TABLE. INSTALL COMPLETE IN PLACE	EA	3	\$7,251.50	\$21,754.50	\$8,947.69	\$26,843.07	\$8,267.81	\$24,803.43
4 ADA PICNIC TABLE. INSTALL COMPLETE IN PLACE	EA	1	\$6,608.61	\$6,608.61	\$8,217.64	\$8,217.64	\$7,565.23	\$7,565.23
5 TRASH RECEPTACLE. INSTALL COMPLETE IN PLACE	EA	4	\$2,633.07	\$10,532.28	\$3,084.89	\$12,339.56	\$3,049.04	\$12,196.16
6 BIKE RACK. INSTALL COMPLETE IN PLACE	EA	3	\$691.55	\$2,074.65	\$832.03	\$2,496.09	\$956.28	\$2,868.84
7 PET WASTE STATION. INSTALL COMPLETE IN PLACE	EA	2	\$687.52	\$1,375.04	\$758.16	\$1,516.32	\$883.20	\$1,766.40
8 LARGE ACCENT BOULDERS. 4'-5' WIDE X 3'-4' TALL. INSTALL COMPLETE IN PLACE	E TON	6	\$874.48	\$5,246.88	\$845.64	\$5,073.84	\$501.11	\$3,006.66
9 MEDIUM ACCENT BOULDERS. 3'-4' WIDE X 2'-3' TALL. INSTALL COMPLETE IN PLACE	TON	7	\$814.17	\$5,699.19	\$787.32	\$5,511.24	\$469.79	\$3,288.53
10 SMALL ACCENT BOULDERS. 2'-3' WIDE X 1'-2' TALL. INSTALL COMPLETE IN PLACE	E TON	5	\$663.40	\$3,317.00	\$641.52	\$3,207.60	\$407.15	\$2,035.75
11 4-1/2" THICK, 3000 P.S.I. CONCRETE SIDEWALK WITH FINISH SHOWN ON PLANS. INSTALL COMPLETE IN PLACE	SF	5377	\$10.10	\$54,307.70	\$4.58	\$24,626.66	\$8.14	\$43,768.78
12 12" (IN) WIDE X 6" (IN) THICK, 3000 P.S.I CONCRETE BAND WITH FINISH SHOWN ON PLANS. INSTALL COMPLETE IN PLACE	LF	40	\$12.07	\$482.80	\$18.66	\$746.40	\$12.53	\$501.20
13 4° (IN) DEPTH DECOMPOSED GRANITE WITH BINDER. INSTALL COMPLETE IN PLACE	SF	568	\$6.34	\$3,601.12	\$7.00	\$3,976.00	\$15.60	\$8,860.80
14 6" (IN) DEPTH BULL ROCK WITH FILTER FABRIC. INSTALL COMPLETE IN PLACE	SF	1162	\$4.11	\$4,775.82	\$5.25	\$6,100.50	\$7.52	\$8,738.24
15 BLACK STEEL EDGING. INSTALL COMPLETE IN PLACE	LF	145	\$10.86	\$1,574.70	\$16.33	\$2,367.85	\$16.17	\$2,344.65
16 POND FOUNTAIN, MASTERS GRAND SERIES CROWN AND GEYSER, BY AQUAMASTER FOUNTAINS AND AERATORS OR APPROVED EQUAL, INCLUDE LE LIGHT. INSTALL COMPLETE IN PLACE AND OPERATIONAL	EA D	2	\$58,525.71	\$117,051.42	\$56,596.00	\$113,192.00	\$47,335.00	\$94,670.00
HARDSCAPE ITEMS SUBTOTAL:				\$805,267.30		\$889,559.27		\$839,683.90

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 CITY OF ALVIN E.T.J. FORT BEND COUNTY, TEXAS

OCTOBER 8, 2024 LJA ENGINEERING, INC. S. ROSS OCTOBER 8, 2024 1037-23003 (9.2)

1) ADVANCED CONSTRUCTION &	2) DL MEA
DEVEL ORMENT	

ACHAM LP 3) TEXAS WALL AND LANDSCAPE DEVELOPMENT ITEM DESCRIPTION UNIT OTY **UNIT COST** TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST IRRIGATION ITEMS 1 POINT OF CONNECTION #1 TO WATER METER AND BACKFLOW, INCLUDING TAP, LS \$1,206.17 \$1,206.17 \$1,166.40 \$1,622.95 \$1,622.95 \$1,166.40 SECURITY CAGE, AND MASTER VALVE, INSTALL COMPLETE IN PLACE AND **OPERATIONAL** 2 IRRIGATION PACKAGE AS SHOWN ON PLANS, INSTALL COMPLETE IN PLACE AND \$48.327.60 \$48.327.60 \$46,734.15 \$46.734.15 \$63.194.48 \$63,194,48 **OPERATIONAL** IRRIGATION ITEMS SUBTOTAL: \$49.533.77 \$47.900.55 \$64.817.43 LANDSCAPE ITEMS 1 DRUMMOND RED MAPLE, 45 GAL EΑ 4 \$633.24 \$2,532.96 \$612.36 \$2,449.44 \$488.39 \$1,953.56 2 EAGLESTON HOLLY, 45 GAL. EΑ 9 \$597.06 \$5,373.54 \$577.37 \$5,196.33 \$632.49 \$5,692.41 3 PINK FLOWERING CRAPE MYRTLE, 45 GAL. EΑ \$542.78 \$3,799.46 \$524.88 \$3,674.16 \$538.62 \$3,770.34 4 AMERICAN SYCAMORE, 45 GAL EΑ 4 \$633.24 \$2,532.96 \$612.36 \$2,449.44 \$557.31 \$2,229.24 \$1,718.82 5 SHUMARD RED OAK, 45 GAL. FΑ 3 \$572.94 \$554.04 \$1,662.12 \$488.49 \$1,465.47 6 SOUTHERN LIVE OAK, 65 GAL EΑ 2 \$693.55 \$1,387.10 \$670.68 \$1,341.36 \$641.94 \$1,283.88 7 SOUTHERN LIVE OAK, 45 GAL. EΑ 3 \$512.63 \$1,537,89 \$495.72 \$1,487,16 \$488.49 \$1,465,47 8 SOUTHERN LIVE OAK, 30 GAL. EΑ \$283.45 \$1,984.15 \$274.10 \$310.72 \$2,175.04 \$1,918.70 9 CHASTE TREE, 30 GAL. EΑ 12 \$283.45 \$3,401.40 \$274.10 \$3,289.20 \$279.33 \$3,351.96 \$2,373.90 10 LOROPETALUM, 3 GAL. EΑ 82 \$28.95 \$27.99 \$2,295.18 \$19.55 \$1,603.10 168 11 SUNSHINE LIGUSTRUM, 3 GAL. EΑ \$24.13 \$4,053.84 \$23.33 \$3,919.44 \$29.26 \$4,915.68 12 PINK MUHLY GRASS, 3 GAL. FΑ 92 \$24 13 \$2 219 96 \$23.33 \$2 146 36 \$19.24 \$1,770.08 13 DWARF WAX MYRTLE, 3 GAL. EΑ 51 \$28.95 \$1,476.45 \$27.99 \$1,427.49 \$26.12 \$1,332.12 14 BLUE PLUMBAGO, 3 GAL 40 \$28.95 \$1,158.00 \$27.99 \$1,119.60 \$20.48 \$819.20 EΑ 15 AJUGA CARPET BUGLE, 1 GAL. EΑ 575 \$12.07 \$6,940.25 \$11.66 \$6,704.50 \$9.04 \$5,198.00 16 BICOLOR IRIS 3 GAL EΑ 103 \$24.13 \$2 485 39 \$23.33 \$2 402 99 \$13.60 \$1,400.80 17 VARIEGATED FLAX LILY, 1 GAL EA 396 \$7.24 \$2,867.04 \$7.00 \$2,772.00 \$9.17 \$3,631.32 18 LOUUISIANA IRIS, 3 GAL. EA 62 \$26.54 \$1.645.48 \$25.66 \$1.590.92 \$12.98 \$804.76 19 BIG BLUE LIRIOPE, 1 GAL EΑ 267 \$6.04 \$1.612.68 \$5.83 \$1.556.61 \$7.16 \$1.911.72 20 LEOPARD PLANT, 3 GAL ΕA 269 \$28.95 \$7,787.55 \$27.99 \$7,529.31 \$29.26 \$7,870.94 21 PURPLE LANTANA, 1 GAL. EΑ 310 \$7.24 \$2,244.40 \$7.00 \$2,170.00 \$8.73 \$2,706.30 22 SOCIETY GARLIC, 1 GAL. EΑ 199 \$8.45 \$1,681.55 \$8.16 \$1,623.84 \$8.73 \$1,737.27 23 BERMUDA GRASS - HYDROMULCH. SF 34882 \$0.13 \$4 534 66 \$0.12 \$4,185.84 \$0.09 \$3 139 38 24 BERMUDA GRASS - SOD SF 15778 \$0.86 \$13,569.08 \$0.82 \$12,937.96 \$0.63 \$9,940.14 25 LANDSCAPE BED PREPARATION SF 10404 \$0.19 \$1,976.76 \$0.17 \$1,768.68 \$0.69 \$7,178,76

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 CITY OF ALVIN E.T.J. FORT BEND COUNTY, TEXAS

FORT BEND COUNTY, TO OCTOBER 8, 2024 LJA ENGINEERING, INC. S. ROSS OCTOBER 8, 2024 1037-23003 (9.2)

LJA JOB NO.			103	37-23003 (9.2)					
		1) ADVANCED CONSTRUCTION & 2) D DEVELOPMENT			2) DL MEACH	IAM LP	3) TEXAS WALL AND LANDSCAPE		
ITEM DESC	RIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
26 6" DEPTH PLANTING SOIL MIX		CY	193	\$54.28	\$10,476.04	\$52.49	\$10,130.57	\$84.50	\$16,308.50
27 2" HARDWOOD MULCH		CY	64	\$48.25	\$3,088.00	\$46.66	\$2,986.24	\$72.30	\$4,627.20
28 SHOVEL CUT EDGE		LF	1225	\$1.21	\$1,482.25	\$1.17	\$1,433.25	\$0.69	\$845.25
29 LANDSCAPE MAINTENANCE		MO	2	\$934.79	\$1,869.58	\$903.96	\$1,807.92	\$4,486.61	\$8,973.22
LANDSCAPE ITEMS SUBTOTAL:					\$99,811.14		\$95,976.61		\$110,101.11
LIGHTING AND ELECTRICAL ITEMS									
1 LARGE TREE DIRECTIONAL LIGHTS, RE: FIXTURES, WIRING, PANELS, JUNCTION SUPPLY AND ALL APPURTENANCES. INS OPERATIONAL	BOXES, CONNECTION TO POWER	EA	5	\$3,015.43	\$15,077.15	\$3,049.92	\$15,249.60	\$3,131.91	\$15,659.55
2 OUTDOOR FAN, RE: LIGHTING SHEETS. I PANELS, JUNCTION BOXES, CONNECTIC APPURTENANCES. INSTALL COMPLETE	ON TO POWER SUPPLY AND ALL	EA	2	\$3,618.51	\$7,237.02	\$3,499.20	\$6,998.40	\$3,758.29	\$7,516.58
3 RECEPTACLE BOLLARD, RE: LIGHTING S WIRING, PANELS, JUNCTION BOXES, CO APPURTENANCES. INSTALL COMPLETE	NNECTION TO POWER SUPPLY AND ALL	EA	3	\$3,015.43	\$9,046.29	\$3,367.98	\$10,103.94	\$3,131.91	\$9,395.73
4 EMERGENCY LIGHTS, RE: LIGHTING SHE OPERATIONAL	EETS. INSTALL COMPLETE IN PLACE AND	EA	2	\$3,015.43	\$6,030.86	\$2,916.00	\$5,832.00	\$3,131.91	\$6,263.82
5 20 AMP GFI OUTLET 208-230V, RE: LIGHT PLACE AND OPERATIONAL	TING SHEETS. INSTALL COMPLETE IN	EA	4	\$1,206.17	\$4,824.68	\$1,166.40	\$4,665.60	\$1,252.76	\$5,011.04
6 20 AMP GFI OUTLET120V, RE: LIGHTING COMPLETE IN PLACE AND OPERATIONA		EA	2	\$904.63	\$1,809.26	\$874.80	\$1,749.60	\$939.57	\$1,879.14
7 ELECTRICAL METER AND SERVICE MOU ALL RACKS, RACK MOUNTED ELECTRIC, WIRING, PULL BOXES, TIMERS, TESTING UNDERGROUND CONDUIT AND WIRING I METER RACK, INSTALL COMPLETE IN PL	AL COMPONENTS, ALL CONDUITS AND CONTRANSFORMER AND ALL FROM THE TRANSFORMER TO THE	LS	1	\$9,649.36	\$9,649.36	\$9,331.20	\$9,331.20	\$10,022.11	\$10,022.11
8 ELECTRICAL METER AND SERVICE MOU INCLUDING SERVICE MOUNTING, WIRING CONDUCTORS, PULL BOXES, AND TIMEF PLACE AND OPERATIONAL		LS	1	\$12,061.70	\$12,061.70	\$11,664.00	\$11,664.00	\$12,527.65	\$12,527.65
LIGHTING AND ELECTRICAL ITEMS SUBTOTAL	:				\$65,736.32		\$65,594.34		\$68,275.62
ALTERNATE BID ITEMS (NON TAX-EXEMPT)									
1 POOL DECK DRAINAGE PACKAGE TO HA TO CIVIL DRAINAGE AND GROUT SOLID COMPLETE IN PLACE		LS	1	\$301.55	\$301.55	\$569.67	\$569.67	\$2,087.28	\$2,087.28
2 ON-GRADE ADJUSTABLE FLOOR DRAIN, SIOUX CHIEF OR APPROVED EQUAL, INS		EA	3	\$319.64	\$958.92	\$213.92	\$641.76	\$146.25	\$438.75
3 6' CHANNEL DRAIN AND GRATE, NDS OR COMPLETE IN PLACE	R APPROVED EQUAQL, INSTALL	EA	1	\$934.79	\$934.79	\$439.73	\$439.73	\$4,387.50	\$4,387.50
4 4" SMOOTH WALL PVC DRAINPIPE & EXC	CAVATION/FILL, OR APPROVED EQUAL,	LF	61	\$19.91	\$1,214.51	\$24.80	\$1,512.80	\$22.23	\$1,356.03

INSTALL COMPLETE IN PLACE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF HUNTINGTON PLACE RECREATION CENTER- PHASE 2 PUBLIC FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 189 CITY OF ALVIN E.T.J.

FORT BEND COUNTY, TEXAS OCTOBER 8, 2024 LJA ENGINEERING, INC. S. ROSS OCTOBER 8, 2024

TABULATION DATE: LJA JOB NO.			0CTOBER 8, 2024 037-23003 (9.2)					
			1) ADVANCED CON DEVELOP		2) DL MEACHAM LP		3) TEXAS WALL AN	ID LANDSCAPE
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 4-1/2" THICK, 3000 P.S.I. CONCRETE POOL DECK WITH FINISH SHOWN ON PLAI INSTALL COMPLETE IN PLACE	NS. SF	4884	\$8.39	\$40,976.76	\$10.13	\$49,474.92	\$8.13	\$39,706.92
6 CUSTOM SHADE STRUCTURE BY AVADEK, INCLUDING ALL POSTS, FOOTINGS, SUPPORTS AND HARDWARE. INSTALL COMPLETE IN PLACE	LS	1	\$203,287.81	\$203,287.81	\$173,313.86	\$173,313.86	\$151,591.65	\$151,591.65
7 6'-0" TALL METAL FENCING WITH FINISH SHOWN ON PLANS. INSTALL COMPLE' IN PLACE AND OPERATIONAL	TE LF	364	\$68.23	\$24,835.72	\$83.98	\$30,568.72	\$59.21	\$21,552.44
8 6°-0° TALL DOUBLE METAL GATE WITH FINISH SHOWN ON PLANS, INCLUDING A HARDWARE AND APPURTENANCES. INSTALL COMPLETE IN PLACE AND OPERATIONAL	ALL EA	1	\$6,951.16	\$6,951.16	\$7,464.96	\$7,464.96	\$5,088.90	\$5,088.90
9 POOL INCLUDING GUNITE POOL SHELL, COPING, TILING, PLASTER, PUMPS, PC SLEEVES, HANDRAILS, AND ALL APPURTENANCES INSTALL COMPLETE IN PLA AND OPERATIONAL		3489	\$99.08	\$345,690.12	\$101.96	\$355,738.44	\$81.64	\$284,841.96
10 POOL BUBBLER, COLORVISION LED BUBBLER #580037 BY PENTAIR, OR APPROVED EQUAL. INCLUDE CONDUIT, FIXTURES, WIRING, PANELS, JUNCTIO BOXES, CONNECTION TO POWER SUPPLY AND ALL APPURTENANCES. INSTAL COMPLETE IN PLACE AND OPERATIONAL		5	\$1,627.85	\$8,139.25	\$1,446.34	\$7,231.70	\$3,185.91	\$15,929.55
11 OUTDOOR SHOWER TOWER (WODS-ADA SERIES STAILNESS STEEL ADA- COMPLIANT) BY WILLOUGHBY STAINLESS FOUNTAINS, OR APPROVED EQUAL INCLUDING ALL PIPING AND CONNECTIONS. INSTALL COMPLETE IN PLACE AN OPERATIONAL		1	\$7,413.53	\$7,413.53	\$5,773.68	\$5,773.68	\$9,126.00	\$9,126.00
12 POOL LIGHT, RE: LIGHTING SHEETS, INCLUDE CONDUIT, FIXTURES, WIRING, PANELS, JUNCTION BOXES, CONNECTION TO POWER SUPPLY AND ALL APPURTENANCES INSTALL COMPLETE IN PLACE AND OPERATIONAL	EA	6	\$2,119.65	\$12,717.90	\$3,382.56	\$20,295.36	\$2,641.30	\$15,847.80
ALTERNATE BID ITEMS (NON TAX-EXEMPT) SUBTOTAL:				\$653,422.02		\$653,025.60		\$551,954.78
BIDDING SUMMARY								
SUBTOTAL MISCELLANEOUS ITEMS				\$5,091.04		\$2,566.08		\$4,008.84
SUBTOTAL CIVIL ITEMS				\$65,289.01		\$49,468.35		\$41,224.87
SUBTOTAL GRADING AND DRAINAGE ITEMS				\$94,293.80		\$52,492.36		\$96,897.66
SUBTOTAL HARDSCAPE ITEMS				\$805,267.30		\$889,559.27		\$839,683.90
SUBTOTAL IRRIGATION ITEMS				\$49,533.77		\$47,900.55		\$64,817.43
SUBTOTAL LANDSCAPE ITEMS		>		\$99,811.14		\$95,976.61		\$110,101.11
SUBTOTAL LIGHTING AND ELECTRICAL ITEMS				\$65,736.32		\$65,594.34		\$68,275.62
TOTAL AMOUNT BASE BID				\$1,185,022.38		\$1,203,557.56		\$1,225,009.43
ALTERNATE BID ITEMS (NON TAX-EXEMPT)								
TOTAL AMOUNT BASE BID				\$1,185,022.38		\$1,203,557.56		\$1,225,009.43
SUBTOTAL ALTERNATE BID ITEMS (NON TAX-EXEMPT)				\$653,422.02		\$653,025.60		\$551,954.78
TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS (NON TAX-EXEMPT)				\$1,838,444.40		\$1,856,583.16		\$1,776,964.21